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ISMG4500 Sample Questions and Answers for Exam 2

The content and format of these questions covering textbook Chapter 10 and lab Chapter 5 are representative of questions on exam 1. You can also use these questions to focus on the timing of 3 to 5 minutes per question.
Unless otherwise noted, you should use the Intercollegiate database to answer the exam questions.  For details about this database, see the class handout.
1. This problem involves the following CREATE VIEW statement and UPDATE statement. 
CREATE VIEW Football-EmployeeView AS

SELECT EmpNo, EmpName, Phone, Email, Department
 FROM Employee
 WHERE Department = 'Football'
INSERT INTO Football-EmployeeView (EmpNo, EmpName, Phone, Department)

VALUES('E20', 'bill jones', '(303)884-7532', 'Football')

If Employee.Email is a required column with no default value, the above INSERT statement

a. does NOT insert a row into the Employee table because the Email value must be provided.

b. inserts a row into the Employee table if the values in the VALUE clause do not violate an integrity constraint of the Employee table.

c. does NOT insert a row into the Employee table because the Football-EmployeeView does not support view updates.

d. updates a row in the Employee table if the EmpNo value in the INSERT statement matches the EmpNo value of an existing row in the Employee table.

Answer: A
Choice A is correct because the default value does not provide a value for the required Email column. Choice D is not correct because the INSERT statement on a view is translated to an INSERT statement on the associated base table. Choice C is not correct because the Football-EmployeeView supports view updates.
2. This problem involves the following CREATE VIEW statement and UPDATE statement. 
CREATE VIEW Football-EmployeeView AS

SELECT EmpNo, EmpName, Phone, Email, Department

 FROM Employee

 WHERE Department = 'Football'
UPDATE Football-EmployeeView

 SET Department = 'Basketball'
 WHERE EmpNo = 'E20'
If Employee.Email is a required column without a default value, the UPDATE statement

a. does NOT update a row into the Employee table because the Email value must be provided.

b. does NOT update a row into the Employee table because the Football-EmployeeView does not support view updates.

c. updates a row into the Employee table if the new Department value does not violate an integrity constraint of the Employee table and EmpNo “E20” exists in the Employee table.

d. does NOT update a row into the Employee table because the view does not support updates with side effects.
Answer: C

Choice A is not correct because UPDATE statements do not need to provide all required columns. Choice B is not correct because the view supports updates. Choice D is not correct because WITH CHECK OPTION clause is not provided in the view definition.
3. This problem involves the following CREATE VIEW statement and UPDATE statement. 
CREATE VIEW Football-EmployeeView AS

SELECT EmpNo, EmpName, Phone, Email, Department

 FROM Employee

 WHERE Department = 'Football'
 WITH CHECK OPTION

UPDATE Football-EmployeeView

 SET Email = 'billsmith@bigu.edu'
 WHERE EmpNoNo = 'E20'
The UPDATE statement

a. does NOT update a row into the Employee table because the WITH CHECK OPTION clause prevents view updates with side effects.

b. updates the Email column of the row in the Employee table with EmpNo “E20” if the new Email value does not violate an integrity constraint of the Employee table and EmpNo “E20” exists in the Employee table.
c. displays a message asking the user if the Email column should be updated.

d. updates the Email column of the row in the Employee table with EmpNo “E20” and displays a warning message about the row disappearing from Football-EmployeeView.

Answer: B
Choice B is correct because the SET clause does not modify a column in the WHERE clause. The CHECK OPTION clause does not prevent updates to columns not used in the WHERE clause of the view’s SELECT statement.
4. This problem involves the following CREATE VIEW statement and SELECT statement. 
CREATE VIEW CO-CustomerEventView AS

SELECT Customer.CustNo, CustName, Phone, Facility.FacNo, FacName, EventNo, 
                DateHeld, DateReq, EstCost
 FROM Customer, EventRequest, Facility
 WHERE State = 'CO' AND DateHeld BETWEEN #1-Jan-2002# AND #31-Dec-2002#
      AND Customer.CustNo = EventRequest.CustNo 
      AND EventRequest.FacNo = Facility.FacNo

SELECT CustNo, CustName, Phone, FacNo, FacName
 FROM CO-CustomerEventView
 WHERE CustNo = 'C20'
To process the SELECT statement, the SQL compiler will

a. execute the SELECT statement in the CREATE VIEW statement and then execute the SELECT statement using the materialized view.

b. modify the FROM and the WHERE clauses of the SELECT statement and then execute the modified SELECT statement.

c. display an error message because CO-CustomerEventView is not a base table.

d. execute the SELECT statement only if the CO-CustomerEventView has been materialized previously.

Answer: B

Choice B (view modification) is the normal process used by SQL compilers to process queries that use views. Choices A and D (materialization) are used by SQL compilers for complex views and data warehouses.
5. This problem involves the following CREATE VIEW statement. 
CREATE VIEW CO-CustomerEventView AS

SELECT Customer.CustNo, CustName, Phone, Facility.FacNo, FacName, EventNo, 

                DateHeld, DateReq, EstCost, Status, EstAudience, BudNo
 FROM ( Customer INNER JOIN EventRequest ON Customer.CustNo = EventRequest.CustNo )
             INNER JOIN Facility ON EventRequest.FacNo = Facility.FacNo
 WHERE State = 'CO' AND DateHeld BETWEEN #1-Jan-2002# AND #31-Dec-2002#
Using the rules for 1-M updatable queries, the CO-CustomerEventView
a. supports INSERT operations on the EventRequest table only.

b. supports INSERT operations on the EventRequest, Customer, and Facility tables.
c. supports INSERT operations on the EventRequest and Customer tables but not on the Facility table.

d. does not support INSERT operations on any base table.

Answer: D
The view does not support insert operations on any table because the rules for 1-M updatability specify that the query result must include the primary key of the child table and required fields of the child table. The foreign keys (EventRequest.CustNo and EventRequest.FacNo) must be in the result list to allow insert operations on the EventRequest table.
6. This problem involves the following CREATE VIEW statement. 
CREATE VIEW CO-CustomerEventView AS

SELECT EventRequest.CustNo, CustName, Phone, EventRequest.FacNo, FacName, EventNo, 

                DateHeld, DateReq, EstCost, Status, EstAudience, BudNo

 FROM ( Customer INNER JOIN EventRequest ON Customer.CustNo = EventRequest.CustNo )
             INNER JOIN Facility ON EventRequest.FacNo = Facility.FacNo

 WHERE State = 'CO' AND DateHeld BETWEEN #1-Jan-2002# AND #31-Dec-2002#
Using the rules for 1-M updatable queries, the CO-CustomerEventView
a. supports INSERT operations on the Customer, EventRequest, and Facility tables.
b. supports INSERT operations on the EventRequest and Customer tables but not on the Facility table.

c. does not support INSERT operations on any base table but supports UPDATE operations on the EventRequest, Customer, and Facility tables.

d. supports INSERT, UPDATE, and DELETE operations on the EventRequest table and UPDATE operations on the Customer and Facility tables.

Answer: D
The view supports manipulation statements on the EventRequest table because the view contains the primary key of the EventRequest table and the other required columns. The view does not support INSERT operations on the Asset and Customer tables because the query result does not contain the primary keys of these tables. Update operations are supported on the Customer and Facility tables through the foreign keys in the EventRequest table.
7. This problem involves the following CREATE VIEW statement. 
CREATE VIEW CO-CustomerEventView AS

SELECT EventRequest.CustNo, CustName, Phone, EventRequest.FacNo, FacName, EventNo, 

                DateHeld, DateReq, EstCost, Status, EstAudience, BudNo

 FROM ( Customer INNER JOIN EventRequest ON Customer.CustNo = EventRequest.CustNo )
             INNER JOIN Facility ON EventRequest.FacNo = Facility.FacNo

 WHERE State = 'CO' AND DateHeld BETWEEN #1-Jan-2002# AND #31-Dec-2002#
According to the definition of 1-M updatable queries, in the CO-CustomerEventView,

a. EventRequest and Facility are the child tables and Customer is the parent table.

b. EventRequest and Customer are the child tables and Facility is the parent table.

c. EventRequest is the child table and Customer and Facility are the parent tables.

d. there are no 1-M relationships.

Answer: C

This query contains two 1-M relationships with EventRequest the child table in both relationships and Facility and Customer the parent tables.
8. This problem involves the following CREATE VIEW statement. 
CREATE VIEW CO-CustomerEventView AS

SELECT EventRequest.CustNo, CustName, Phone, Facility.FacNo, FacName, EventNo, 

                DateHeld, DateReq, EstCost, Status, EstAudience, BudNo

 FROM ( Customer INNER JOIN EventRequest ON Customer.CustNo = EventRequest.CustNo )
             INNER JOIN Facility ON EventRequest.FacNo = Facility.FacNo

 WHERE State = 'CO' AND DateHeld BETWEEN #1-Jan-2002# AND #31-Dec-2002#
According to the definition of 1-M updatable queries, in the CO-CustomerEventView,

a. supports INSERT operations on the EventRequest table and UPDATE operations on the Customer and Facility tables.
b. supports INSERT operations on the Customer, EventRequest, and Facility tables.
c. supports INSERT operations on the EventRequest and Customer tables but not on the Facility table.

d. does not support INSERT operations on any base table.

Answer: D
This query does not support INSERT operations on any table because a required foreign key (EventRequest.FacNo) is not in the result.
9. This problem involves the following CREATE VIEW statement.  
CREATE VIEW CO-CustomerEventView AS

SELECT EventRequest.CustNo, CustName, Phone, EventRequest.FacNo, FacName, EventNo, 

                DateHeld, DateReq, EstCost, Status, EstAudience, BudNo, Facility.FacNo
 FROM ( Customer INNER JOIN EventRequest ON Customer.CustNo = EventRequest.CustNo )
             INNER JOIN Facility ON EventRequest.FacNo = Facility.FacNo

 WHERE State = 'CO' AND DateHeld BETWEEN #1-Jan-2002# AND #31-Dec-2002#
Using the rules for 1-M updatable queries, the CO-CustomerEventView
a. supports INSERT operations on the EventRequest table and only UPDATE operations on the Customer and Facility tables.
b. supports INSERT operations on the Customer, EventRequest, and Facility tables.
c. supports INSERT and UPDATE operations on the EventRequest and Facility tables and UPDATE operations on the Customer table.

d. does not support INSERT operations on any base table.

Answer: C

This query supports INSERT operations on the Facility and EventRequest table because the query result contains the primary keys of both tables.  The query does not support INSERT operations on the Customer table because the query result does not contain the primary key of the Customer table.
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 Figure 1: Form View of the Event Planning Form

10. This question concerns the Event Planning form shown in Figure 1.
The primary key of the main form is  
a. PlanNo

b. Event No

c. the combination of Plan No and Event No.
d. the combination of Plan No and Line No.

Answer: A
The EventPlan table is the parent table in the 1-M relationship, and PlanNo is the primary key of EventPlan.
11. This question concerns the Event Planning form shown in Figure 1. 

The linking column in the main form that connects to the subform is  
a. EventPlanLine.LineNo

b. EventPlanLine.PlanNo
c. EventPlan.PlanNo
d. The combination of EventPlan.PlanNo and EventPlan.EventNo
Answer: B
The linking field in the main form is EventPlan.PlanNo because it is the primary key of the main form. EventPlanLine.PlanNo is the linking field in the subform.

12. This question concerns the Event Planning form shown in Figure 1. 

The main form query contains columns from the
a. the EventPlan and Employee tables.
b. the EventPlan, EventRequest, and Employee tables.
c. the EventPlan, EventRequest, Customer, Facility, and Employee tables.
d. the EventPlan, EventRequest, Customer, and Facility tables.
Answer: D
The Employee table is not needed because only the EmpNo column appears in the main form.
13. This question concerns the Event Planning form shown in Figure 1. 

The subform query contains columns from the
a. the EventPlanLine table only.
b. the EventPlanLine, Resource, and Location tables.
c. the EventPlanLine, EventPlan, Resource, and Location tables.
d. the EventPlanLine and Resource tables.
Answer: B

The EventPlan table is used in the main form, not the subform.
14. This question concerns the Event Planning form shown in Figure 1. 

In the main form, Access performs auto lookup for 
a. none of the fields.

b. Event No.

c. Supervisor.

d. WorkDate.

Answer: B
Auto lookup applies to foreign keys not to primary keys. Since there is no data from the Employee table on the main form, auto lookup does not apply to the Supervisor field.
15. This question concerns the Event Planning form shown in Figure 1. 

In the subform, Access performs auto lookup for the  
a. none of the fields.

b. Line No, Loc No, and Res No.

c. Loc No and Res No.
d. Plan No, Loc No, and Res No.
Answer: C
Line No is not a foreign key. Plan No is not on the subform.
16. What Access properties are usually set together to prohibit a user from changing a value and obtaining focus. 

a. Enabled and Locked properties
b. Enabled and Format properties
c. Locked and Data Source properties
d. Locked and Name properties
Answer: A
Setting Enabled to No restricts changes to the field. Setting Locked to Yes prohibits focus on the field. These properties should be set in combination so that a user will not be confused.
17. This question concerns the Event Planning form shown in Figure 1. 

After the user enters the value of an existing plan number in the main form,
a. Access generates an error message after the user scrolls to another main form record because the Plan No already exists

b. Access generates the values of the other fields in the main form

c. Access does not generate the values of other fields in the main form and no error message is generated when the user scrolls to another main form record.

c. Access generates the values of the other fields in the main form and the related subform records.

Answer: A
For form fields corresponding to primary keys, Access requires unique values. Access does not support retrieval of form instances when an existing primary key value is entered.
18. This question concerns the Event Planning form shown in Figure 1. 

The field Amount in the subform should be calculated
a. in the subform query.
b. in the subform field.
c. in a combo box query.

d. either in the subform query or subform field.

Answer: D
Row calculations can be performed in the subform query of in the form field.
19. This question concerns the Event Planning form shown in Figure 1. 

In the main form and subform, combo boxes would not be a good choice for which field? 
a. Loc No
b. Res No
c. Activity
d. Plan No

Answer: D
Combo boxes are good choices for foreign keys. Thus, Loc No and Rec No should use combo boxes. Combo boxes also are good choices for fields with a small set of values such as the Operation field. Combo boxes should not be used for the primary key of the main form (Plan No) because the user should enter a new value rather than an existing value.
20. This problem involves the following CREATE VIEW statement and SELECT statement. 
CREATE VIEW CO-CustomerEventView AS

SELECT Customer.CustNo, CustName, Phone, Facility.FacNo, FacName, EventNo, 

                DateHeld, DateReq, EstCost, City, State, Zip
 FROM Customer, EventRequest, Facility

 WHERE State = 'CO' AND DateHeld BETWEEN #1-Jan-2002# AND #31-Dec-2002#
      AND Customer.CustNo = EventRequest.CustNo 

      AND EventRequest.FacNo = Facility.FacNo

SELECT CustNo, CustName, Phone, FacNo, FacName

 FROM CO-CustomerEventView

 WHERE City = 'Boulder' AND DateHeld BETWEEN #1-Oct-2002# AND #31-Oct-2002#
To modify the user’s SELECT statement, the SQL compiler will

a. substitute Customer, EventRequest, Facility for CO-CustomerEventView in the FROM clause and replace the WHERE clause in the view’s SELECT statement with the WHERE clause in the user’s SELECT statement.
b. substitute Customer, EventRequest for CO-CustomerHoldingView in the FROM clause, and using the AND operator, append the conditions in the WHERE clause of the view’s SELECT statement to the conditions in the WHERE clause of the user’s SELECT statement.
c. substitute Customer, EventRequest, Facility for CO-CustomerEventView in the FROM clause and using the AND operator, append the conditions in the WHERE clause of the view’s SELECT statement to the conditions in the WHERE clause of the user’s SELECT statement.
d. Using the AND operator, append the conditions in the WHERE clause of the view’s SELECT statement to the conditions in the WHERE clause of the user’s SELECT statement

Answer: C
Query modification involves substitution in the FROM and the WHERE clauses. In the FROM clause, the view name is replaced by the tables in the FROM clause of the view’s SELECT statement. In the WHERE clause, the WHERE clause of the query is appended with the AND operator to the WHERE clause of the view’s query.

21. Which of the following statements is true for combo boxes in Access forms? 

a. combo boxes are memory aids

b. combo boxes can be used for primary keys to help enter new records
c. queries for combo boxes usually reference the queries for the main form and subform

d. Access uses combo boxes to implement auto lookup queries.

Answer: A
Access does not use combo boxes for auto lookup queries. Although foreign keys are associated with both combo boxes and auto lookup queries, these two features are not related.
22. Which of the following statements is NOT an advantage about using updatable views in form specification?
a. Updatable views improve productivity by eliminating the need for tedious coding.
b. Updatable views improve productivity by eliminating the need to layout a form.
c. Updatable views provide a tool for non procedural specification of data requirements for forms.
d. Updatable views provide flexibility to support the requirements of complex forms with more than one table appearing in the main form and subform.
Answer: B
The other choices are advantages. Updatable views do not eliminate layout and formatting tasks.
23. Which of the following statements is NOT true about hierarchical forms?
a. Hierarchical forms provide a convenient interface for operations on 1-M relationships.
b. Hierarchical forms provide a fixed part known as the main form and a variable part known as the subform.
c. Hierarchical forms with more than two levels are usually preferred to forms with two levels. 
d. Hierarchical forms are important parts of many business applications.
Answer: C

Although hierarchical forms can have more than two levels, it is usually too difficult for a user to understand how to use forms with more than two levels.
24. Which of the following statements is true about WITH CHECK OPTION clause of the CREATE VIEW statement?
a. The WITH CHECK OPTION prevents all view updates.

b. The WITH CHECK OPTION instructs the DBMS to enforce integrity constraints.
c. The WITH CHECK OPTION prevents updates to columns used in conditions in the WHERE clause.
d. The WITH CHECK OPTION instructs the DBMS to determine if materialization should be used in view processing instead of modification.
Answer: C
The WITH CHECK OPTION prevents side effects caused by updating a column used in the WHERE clause of the view’s defining query.
25. Which of the following statements is NOT true of a hierarchical form?
a. Data in the main form may be updatable.
b. Data in the main form may be non-updatable.
c. Data in the main form is never updatable.

d. The main form may contain computed data.

Answer: C
The main form may or may not contain updatable fields.
